= A
N = 0 & AF S 99 N A
20178 = 20l A LBEESH M A
SN BHEYHI
E: MERBLES IIF A
Chel: =S HUIIEBHA (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
SHA Y 7,046,458 5,378,200 1,668,258
= 3,076,125
Jl 79,614
= 450,595
Al 3,440,124
HdE=22F0 (HII& WA 5,931,066 4,348,980 1,582,086
= 3,032,125
< 450,595
Al 2,448,346
>CAUIIEMA 5,196,266 4,036,650 1,159,616
= 2,777,125
< 285,595
Al 2,133,546
HAINAHA P BXRAY 934,000 402,000 532,000
= 467,000
Al 467,000
402 SI2vXHE0| ™ 934,000 402,000 532,000
= 467,000
Al 467,000
02 QI2ZtXIE A E X (0| X THS) 934,000 0 934,000
OFAHAINAHA BEZAIY 934,000
— e 12,000,000 »65CH 780,000
= 390,000
Al 390,000
- =¥ 7,000,000& =22CH 154,000
2 77,000
Al 77,000
HAINAHA A2 H BXAY 86,000 0 86,000
= 43,000
Al 43,000
402 BI2H X201 M 86,000 0 86,000
2 43,000
Al 43,000
02 CIZEXIEAISE X (0| XM THL) 86,000 0 86,000
O&FAINAH A HA2H BX 86,000, 000& 86,000
2 43,000
Al 43,000
AANMSSHZLZTT (AL E) 176,246 121,800 54, 446
2 125,890
Al 50,356
402 IV X0l & 176,246 121,800 54,446
= 125,890
Al 50,356
02 BIZtXIEANYE X (0OIETHH) 176,246 0 176,246
OANZEE HNsAHUY ESAE 176,246,000 176,246
= 125,890
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el
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4 rx o
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o tHolE e
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
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Al

50,356

|
B>
[P
tol
Mo
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oy
4
™
9
0
01

24,000

12,000
12,000

24,000

H

Al

24,000

12,000
12,000

24,000

02 QAT 2AMAEE(0IATHE)

OJNEE M=sAHU E2AY
160,000& = 150CH

= N

24,000

24,000

12,000
12,000

24,000

= N W

, 774,506
,380,063

207,008

, 187,445

3,194,042

A419,536

= N W

, 774,506
,380,053

207,008

, 187,445

3,194,042

A 419,536

2,760,106,000&

= N H

, 760,106

, 760,106
,380,063

207,008

, 173,045

14,400

14,400

2,760,106

14,400

= N W

64,764
32,382

4,857
27,525

57,148

7,616

Z W

64,764
32,382

4,857
27,525

57,148

7,616

o323 MBI d5 A2

64,764,000

= N H

64,764

64,764
32,382

4,857
27,525

64,764
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P}
0
_>'|_|
T
il
Ha
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e
[H
jat]
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A

H

Al

950,000

700,000
250,000

212,800

737,200

836,000

210,000

626,000
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2N
X ZH -
L= B

el

=1

4 rx o

H ™ oY

oo

o4
MM

o HoIE i
=Rl (Sl & &)

J

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
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£l
Ol
0y

H

Al

616,000
220,000

19,000,000 «44CH

H

Al

836,000
836,000

836,000

616,000
220,000

836,000

405 At&tF =H|

H

Al

114,000

84,000
30,000

114,000

19,000,000 *6CH

H

Al

114,000
114,000

114,000

84,000
30,000

114,000

H

Al

7,420

3,710
3,710

7,420

H

Al

7,420

3,710
3,710

7,420

MIEtEd=

O8Il #H =0l

7,420,000

= N

7,420
7,420

3,710
3,710

7,420

SAOEEN XA

= MW

33,600
16,800

2,520
14,280

30,240

3,360

= MW

33,600
16,800

2,520
14,280

30,240

3,360

MIIEtEd =
OsdiolE HMel N3 A

33,600,000&

= N H

33,600

33,600
16,800

2,520
14,280

30,240

3,360

=3]
=

02

A20/2F AUWSIIE &F

10,730

10,730

101 Q124 4]

10,730

10,730

04 0IZtHZ22HsE+
Og&EAZ20I18 HUBIIE

f

o

e M
-

2 =
=g 6,470 2 «8A| 2t x5 +3E
2 5

g 6,470 »2H «8Al 2+ +3&

10,730
8,697
6,833
1,553

311

10,730
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SN BZFYY
M dXFF2 HIIE M
el ACAIIE N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBEAZ0Ie dUSIIE SHIER &3 1,050
—Jlzs 7803 x2 B *8A| 2t x22 x3E 824
e 7802 x2% *BA| 24 ¥57 32 188
— XY 7803 2 xBA| 2H+3E 38
OHERZO0IE HAUHSIIE =S3gR B8 983
— =03z 9,747,000& *45/1,000 439
—HLEE 9,747,000& *30.6/1,000 299
— LRI QAZE 298,300 x65.5/1,000 20
— 828 9,747,000& *15/1,000 147
—&MHEE 9,747,000 %8/1,000 78
OIMIEX M2 XA 135,000 0 135,000
< 67,500
Al 67,500
402 RIZER20l ™ 135,000 0 135,000
< 67,500
Al 67,500
02 DIt 2 AL EZ (OIS ) 135,000 0 135,000
OZs0ISAE OIMSX EXAIE XX
tS 35,000, 000& 35,000
< 17,500
Al 17,500
OZHASE OIASX M2 HE A
100,000, 000& 100,000
< 50,000
Al 50,000
tholeg=d2 2el 734,800 312,330 422,470
= 255,000
< 165,000
Al 314,800
tholeg dZe z2tel 55,800 95,800 240,000
201 Let24E] 55,800 95,800 A 40,000
01 At 22l 12,000 18,000 A 6,000
otvlegdzs 223 2¢
2,000,000 «6IH & 12,000
02 =224l 43,800 77,800 A 34,000
omlgdze iz 1,250,000& 128 15,000
oJlegdzs I
400,000 *6H 122 28,800
olg =84 22 673,500 213,330 460,170
= 255,000
< 165,000
Al 253,500
201 Let24d] 125,000 120,000 5,000
< 37,500
Al 87,500
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SN BZFYY
M dXFF2 HIIE M
Sel BIleYEIY 22 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 125,000 120,000 5,000
oI2aEsdEY |2 125,000, 000& 125,000
< 37,500
Al 87,500
405 TtobF S| 548,500 75,000 473,500
= 255,000
< 127,500
Al 166,000
01 AL EFH S 548,500 75,000 473,500
OMIILE=ZY &FSAY 510,000,000& 510,000
2 255,000
< 127,500
Al 127,500
OFUE XRF =5 &I 38,500,000& 38,500
olLE=HZEHl 2el 5,500 3,200 2,300
201 L2l 5,500 3,200 2,300
01 At 22l 4,900 2,600 2,300
OfF 8 =83 TH 228 ¢ 600,000& 600
OBZISHE/Y 42 Y 2E DY
2,000,000& 2,000
ORNEL(E25) NEES 4242
115,000 2004 2 2,300
02 =24l 600 600 0
O=Z ZHl & FAtHI 600,000 600
ofd =E2g ol 317,850 276,694 41,156
J| 79,614
Al 238,236
+=HERA 22 317,850 276,694 41,156
J| 79,614
Al 238,236
=Y M2 238,236 197,080 41,156
101 @14 dl 58,156 0 58,156
03 RIAHAZ 2T E =+ 58,156 0 58,156
O=S0IMS(EM) EEEAMY S2F 24| 52,270
—Jlzs 1,638, 1102 »2H x12& 39,315
— ZHZ A 130,000& »2H «12& 3,120
— 32 S0td| 819,055& x2& #23| 3,277
—EFY 60,0003 x1H » 122 720
—ANZZR=Y 11,770 «2Y#24 A 2H+7 3 3,955
— GotE2 &dl 62,7603 x2H 15 1,883
ORE0IMS(EM) EEMNY 2 EEE 5,366
—=0%= 52,270,000& *45/1,000 2,353
— AL EE 52,270,000% *30.6/1,000 1,600
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M 2#3EHL
X

B 5ld 2HQE Oy
el smQeR 22 (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— Lo EE  1,600,000& «65.5/1,000 105
- 18828 52,270,000 *15/1,000 785
—MHEE 52,270,000 *10/ 1,000 523
ORES0IMS(EM) E2AY B2 U/=4| 520
— &= 50,000& x2H 100
— &3t 40,0003 x24 80
— gsts 120,000& *x2H 240
— S 5t3t 50,000& x2% 100
201 LEt2 Y| 56,400 55,680 720
01 AR 22| I 22,500 23,780 A 1,280
OSES0IMES(EM) DM L E22 HE 7,500
—EM SHE= 1,400 *5,0000H 7,000
—EM EE 2 EAH 100& *5,0000H 500
O2 - & SEAIY Al EE A= 4,600
— ZAHHI 210,000& *123] 2,520
—d10z 520,000& *43| 2,080
OSENIME(EN) ESAMY 42 =3 HAHI
5 140,000 *6 5 *x23] 1,680
OSE0IME(EM) EEAY 2 02 2 500
— &= 50,000& x2H 100
— gst=s 200,000& x2H 400
OELQQIAAMENXZAI AlE R F HI
300,000& =100 A 3,000
OLIEZE =3 ANz 200,000 x 123 2= 4,800
OHHZHLRE LA MEE
35,000& *1CHx12& 420
02 3524t 33,900 31,900 2,000
OSES0IME(EM) 2EHXE SXI22d] 13,900
— XS XA 50,000& =2CH 100
—ANExEEg= 800, 000& »2H 1,600
— S FRE S 100, 000& *2CH 200
- S8 % syl 6,000,000& *x2CH 12,000
OSE0IME(EN) EEANE =8 L K22/l
20,000,000 20,000
203 ¥R =&XH| 4,300 4,500 A 200
03 AIHZ=XH R =X 4,300 4,500 AN 200
OstE=Es gFRFA 4,300,000 4,300
206 M = Hl 76,400 71,500 4,900
01 = bl 76,400 71,500 4,900
Oostdxgadsg 25 7Y 2,000,000 2,000
SENMES(EM) Lad =z 22 59,520
—EM 79,0003 x40S x12& 37,920
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M 2#3EHL
B 5ld 2HQE Oy
el =2 2e| (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
—gd 20,000 x67= 123 16,080
— &g 20,0003 232128 5,520
ORSUMES(EM) L= 58 ¢ N8 XM
== 72 14,880
—HEY S&(1.80) 33,000& =404 &t 1,320
—HEY 43(0.357 ) 42,0003 304+ &t 1,260
- =227 3,000& *3,000H 9,000
—uUsE AN 3,300,000 3,300
301 et A3z 3,000 3,000 0
NJIeEd=s 3,000 3,000 0
Ogdgdl B4z 100,000 »524 500
OSZZULEHQA(EZI=) &3]
50,0003 x8H 43 1,600
ORES0MZ2(EM) EE ANLUZLIHR I U
30,0003 x5H 62 900
405 TtobH S| 39,980 60,000 A 20,020
01 AL EZFH S 39,980 60,000 A 20,020
ORE0IMS(EM) =2 2271 WAl
7,700,000 *4CH 30,800
OXEE RSOMZS(EM) S#Zua S USE
HEZZHE S 28 & 9,180
-4 Z=2NE 1,470,000& 1,470
—A3g 1,240,000 1,240
— Sg£t 1,800,000& 1,800
- ES 1,310,000& 1,310
—wWEs Hos 100,000& «30H 3,000
— LoD 360,000& 360
cEsHE MY 79,614 79,614 0
J| 79,614
207 RO 79,614 79,614 0
J| 79,614
01 A3l 79,614 79,614 0
Ot = Seacl ol&HEI e BHE - &
AN 2LHY 17,614,000& 17,614
J| 17,614
Ostzd==H &2l 0l &It 62,000,000& 62,000
J| 62,000
ANZEO 238 JHA 502,975 421,810 81,165
= 44,000
Al 458,975
NEefm 214 & 98,007 113,400 A 15,393
= 4,000
Al 94,007
AXESH S MESZE &5 5,400 5,400 0
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SN BAYYY
Ha: AQIEN B A
Sl ANg2AM 214 S (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 5,400 5,400 0
02 =224l 5,400 5,400 0
OXXIEH =MesZ&Eal 2l
5,400,000& x13] 5,400
Etd TA 25 MY 92,607 0 92,607
= 4,000
Al 88,607
307 21201 A 92,607 0 92,607
2 4,000
Al 88,607
05 BIZHRI & 3 92,607 0 92,607
OXEIss 2Ed TA 25 MY 92,607
—Jlzs 36,362
ots= 1,763,100 128 21,158
MNS3 1,267,000 128 15,204
—H=g(d& dAxxg) 3,421,310& 3,422
—40f 28 & EAAYSZ 7,032,390& 7,033
— AR 22l 8,690
- =84l 200,000& »12& 2,400
AT (AR, =8 D]) 6,290,000 6,290
—S32LHI(8s & 22e3)
3,600,000 3,600
— ol 1,200,000& 1,200
— AP HI 32,300
- NEIts #Z NS ALY 10,300, 000& 10,300
240tA ALE 8,000,000& 8,000
= 4,000
Al 4,000
-JI=ESHE Ad ALY 5,500,000& 5,500
-ME2ES OYE ZAF ALY 6,000,000 6,000
S 24| 2,500,000& 2,500
2 AIBES 404,968 250,799 154,169
= 40,000
Al 364,968
Aglstd 30 g3 262,640 132,231 130,409
201 Let249] 5,380 8,670 A 3,290
01 At 22l 1,680 910 770
Ostz g 245 A3 3o Feg
70,0003 x6H *43| 1,680
02 =224l 3,700 7,760 A 4,060
OgREXNE mA2e 3,700
— S XHA 100, 000& »2CH 200
- NsSHEE = 500,000& *2CH 1,000

- 401 -




2N

ME: NOEO B HA
Chel: S22 AlRIES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-85 % |SX2a 2,500,000& 2,500
203 YR =2l 2,400 2,500 A 100
03 AIMFAH S Z=AY| 2,400 2,500 A 100
OoAgled 3 25 g2 2,400,000 2,400
207 A& 220,000 100,000 120,000
NEEEE 220,000 100,000 120,000
OREA BLLBHESIE +8
220,000,000 220,000
307 21201 A 34,860 19,861 14,999
02 It S AIHE L 34,860 19,861 14,999
ORIZIEHA SBE2NES ALY X &
34,860,000 34,860
EEAEQERN 22 80,500 100,000 219,500
= 40,000
Al 40,500
201 Let2d]| 500 0 500
01 At 2teltl 500 0 500
OHAZOEN 2= MA 200& *2,5000H 500
301 gEtE 4= 80,000 100,000 A 20,000
= 40,000
Al 40,000
1MIIEBEAS 80,000 100,000 A 20,000
OEHAZEN CdEE X3 80,000,000& 80,000
= 40,000
Al 40,000
Jl=dsiiga 29 19,878 18,568 1,310
101 144 dl 17,878 16,568 1,310
04 D12t Z2XESE+ 17,878 16,568 1,310
ORFAIIZHSME 2 JI2HIZ2 A 21| 14,494
—Jlas 68,4703 1 H +BAl 2t+222 108 11,388
— =54 6,4703 1 H «BAI 2t+5= 102 2,588
— QX 6,4703 1H+8Al 2tx 108 518
ORHANIZHSME R JIZAMI 2 H&d3 1,748
—Jl=s 7803 1 H »8A| 2+x22L x10E 1,373
- =5 780& »1H «BAI 2t x5 +10E 312
— QX 7803 1H+BAI 2tx 108 63
ORHANIIZHSNE 2 JIZHN2ZZ2X EE=E 1,636
— =30z 16,242,000& *45/1,000 731
—HL2E 16,242,0002 *30.6/1,000 498
— LA RYEH 493,000% *65.5/1,000 33
—1E2E 16,242,000& *15/1,000 244
—MWEE 16,242,0002 *8/1,000 130
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SN A
Za: ARIEO BY WA
CHe: St EABN AQES (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 2,000 2,000 0
01 AP 2t 2l Yl 2,000 2,000 0
OJIZzHSNE2 =22 HE 2003 *2,5000H 500
OJIZHSMEZ HMEAE 222 5 7€
1,500,000& 1,500
ME BEX 2= 41,950 0 41,950
201 et A | 41,950 0 41,950
01 AFR22t2l Yl 41,950 0 41,950
ORdlotMES=E EXI=2E #¢ 35,000& 504 1,750
OtdsE2 90l 100,000& = 12& 1,200
OXNAMEl sdna 29 39,000
— 2AIE 30,000& *2 Al 2t 50 & 2 *1203] 36,000
— A STHESH| 2,500 x2 Al 2tx5JH &t 2 %1203 3,000
EE SHZA =4 205,825 186,372 19,453
SHIMERE =2 2el 205,825 147,236 58,589
SENEREZS 2N 205,825 95,086 110,739
101 @1 21| 78,649 39,082 39,567
04 JI2ZtH 22 XNHEE =+ 78,649 39,082 39,567
OIFMNMERLEZ JNI2tH 22 X 21 24Y| 63,770
—-JlE2= 6,470 x4H «8A| 2Hx22 x11& 50,104
—F5Y 6,4703 x4H *8A| 2t x5F+11& 11,388
— X E 6,470 x4H*8A| 211 2,278
O=tAMNEREE 2 JI2tH 22X M2 7,689
—-JlE2= 7803 »4H x8Al 2tx222 11 & 6,041
- 54 780 x4 H xBA| 2t x5F 11 1,373
PN, 7803 *4H x8BA| 2tx11E 275
O=EANEREZ2 JI2ZtHZ22X B2 7,190
— =003 71,459,000& *45/1,000 3,216
—2A2AEE 71,459,000 *30.6/1,000 2,187
— Lol EE  2,169,000& «65.5/1,000 143
- 1888 71,459,000 *15/1,000 1,072
—MHEE 71,459,000 *8/1,000 572
201 et A | 125,736 55,044 70,692
01 AFR2t2l bl 54,420 17,500 36,920
O&X t32¢&E 08 =2 22,220
— &5 2 M MOlA 9,900,000& 9,900
— B AN MHlA 7,920,000& 7,920
— M& ol 253 MBIl 2,200,000 2,200
—AESEHE MHlA 2,200,000 2,200
O=EANEREZ2 XA 22 22,000
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SN A
u: YHE BACA X4
e S RYS 22 (&2 &)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
—A&I|2 100& 70,0004 *23| 14,000
—-S=E= 100& 40,0002 x23] 8,000
OBEWHBED NEIHC U NAHE 0|82
>z 10,200
—AMEIE 500,000& = 12& 6,000
— Jt & A 350,000& x12& 4,200
02 35244l 71,316 37,544 33,772
OSIAMNMAELEZ2 DXNAN g5 2HR2 71,316
= 1,930& 1,200 2,316
— 2 Ht 300& *230,00021 69,000
202 04 b 1,440 960 480
01 2Lhottl 1,440 960 480
OBINLRLS FLES Ot
20,000& *3Y x23| x12& 1,440
HHSHHH (I H M) 88,742 144,344 A 55,602
Jl =23t 88,742 89,370 N628
Jl23Hhl 88,742 89,370 N 628
201 Ypte | 42,782 39,542 3,240
01 At 22l Yl 33,900 30,660 3,240
ORBAM2gII=23| 32,400
— B2 H| 40,0003 *308 x12& 14,400
— =2l 50,000& *30H x12& 18,000
OZHEZEHI 228 ¢ 1,500,000& 1,500
02 332494l 8,882 8,882 0
OHFJALRFA SEYSES L Hiss 8,882
— 2Bt 300& x7502H x12& 2,700
- &7l 1,930& 25024 12& 5,790
—gs= 1,630 %2021 128 392
202 04| 41,760 37,440 4,320
01 2LHOHI 41,760 37,440 4,320
ARFEI20 I 120,000& 29 x12& 41,760
203 PR =&lY| 4,200 4,200 0
04 B 2HAREAY| 4,200 4,200 0
ORABIELERFAH| 350,000& x12& 4,200
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